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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{0.00 ~ 2093 146.55|3m*x# %% 0.00 ~ 0.06( 3.03 16.21| 100kN/m#%#B 2% 1.00{ 10.53 ~ 26.00 146.55|3m%x % %| 25.00 ~ 26.00| 3.03 16.21
s 1.00{2.93 ~ 10.72 100.00f Z=hLl4t+ | 0.06 ~ 10.72| 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8 %% 1.00|0.00 ~ 3.21 151.33| 3m%#%%| 0.00 ~ 0.37| 3.21 17.20| 100kN/m#%#B 2% 1.00{ 10.79 ~ 27.79 151.33| 3m%#x 5| 25.00 ~ 27.79 3.21 17.20
s 1.00] 3.21 ~ 10.99 100.00f Z=h 4t | 0.37 ~ 10.99] 3.00 16.05 s 1.00f 5.00 ~ 10.79 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 3.27 152.36| 3m%#% %] 0.00 ~ 0.26] 3.14 16.78| 100kN/m#%#B 2% 1.00{ 10.53 ~ 31.46 152.36| 3m%x#8% 5| 25.00 ~ 31.46| 3.14 16.78
s 1.00 3.27 ~ 11.05 100.00f Z=hkl9t+ | 0.26 ~ 11.05| 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/m##8 %% 1.00{ 0.00 ~ 3.59 158.01|3m%x# %% 0.00 ~ 0.41| 3.22 17.24| 100kN/m#%#B 2% 1.00{ 10.56 ~ 36.00 158.01| 3m%x# % %| 25.00 ~ 36.00| 3.22 17.24
s 1.00 3.59 ~ 11.37 100.00f Zhl9t | 0.41 ~ 11.37| 3.00 16.05 s 1.00f 5.00 ~ 10.56 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/m##8 %% 1.00{ 0.00 ~ 3.49 156.25|3m#*x# %% 0.00 ~ 0.31| 3.16 16.92| 100kN/m#%#B 2% 1.00{ 10.53 ~ 35.80 156.25| 3m%x#8% %] 25.00 ~ 35.80| 3.16 16.92
s 1.00] 3.49 ~ 11.27 100.00f Zh 4t | 0.31 ~ 11.27] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
6 100kN/m##8 %% 1.00{ 0.00 ~ 3.39 154.49|3m%#% %] 0.00 ~ 0.28| 3.14 16.83| 100kN/m#%#B 2% 1.00{ 10.53 ~ 33.89 154.49| 3m%x#8% 5| 25.00 ~ 33.89| 3.14 16.83
s 1.00{3.39 ~ 11.17 100.00f Z=hl4t |0.28 ~ 11.17] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
7 100kN/m##8 %% 1.00{0.00 ~ 284 144.99|3m%*x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.89 ~ 32.00 144.99| 3m%Ex{B 25 =l ~ - - =
s 1.00| 2.84 ~ 10.63 100.00f Z=hki4t | 0.00 ~ 10.63] 2.98 15.95 st 1.00f 5.00 ~ 10.89 100.00f Z=hl4t+ | 5.00 ~ 32.00f 2.98 15.95
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 5,59 69.87| =hLlst | 0.00 ~ 559| 1.88 10.06 st 1.00f 500 ~ 6.45 69.87| =h L4t | 500 ~ 645 1.88 10.06
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
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